Aire et Périmetre de Triangles (A)

Trouvez I’aire et le périmetre de chaque triangle.

h=17.6 pi
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Aire et Périmetre de Triangles (A) Solutions

Trouvez I’aire et le périmetre de chaque triangle.

h = 17.6 pi
74.0 pi “\23.5pi
87.4 pi 27.2 mm
A =769.12 pi’ A =218.96 mm>
P = 184.9 pi P =69.3 mm
h=65.1 po
: h = 54.2 km
7.8 \68.0
778 po : po 54.2 km 109.0 km
|_i
92.6 po 95.5 km
A =3014.13 po> A = 2588.05 km?
P =258.4 po P =258.7 km
h =94.8 mm h=78.1m
95.5 m 100.1 mm 78.6m| \85.0m
N ]
43.8 mm 42.1 m
A =2076.12 mm°> A = 1644.005 m?
P =239.4 mm P=2057m
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